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1. VEREF 500m Fi&E

[1#8]
B4 E % moORE ERlE %
1T HE MA RIS 38.79
2 EH HKER E A ER 39.19
3 it @K MRS 39.82
4 T ELZ EARESK 40.22
5 it B&E HBER=ZEK 40.33
6 =REZE E INBER 40.51
[24A]
{3 K 4 moOR EE &
1 ER K& RIS 39.15
2 H1 #HhE HBERK=EK 39.30
3 #EH FE EARESK 39.93
4 BRE R INBER 40.49
5 0B E— MARFEESKR 42.67
6 Lt 55 RS =R 5 59.63



2. VEBF 5000m FE

[1#8]
B4z E % OB EE B A % =
1 0 #F= MmiIRFEK 6.49.62 5
2 MR OBK EAREEKR 6.50.17 5=
3 XIR F¥E FAEAE R 5 6.50.93 5t
4 SRE EA INBER 6.51.71 52
5 =E BN BRER AL LI 6.51.37
6 KT fid HBRXR=5K AL LI 6.57.81
7 TR B RERER AA LFEL 7.11.53
8 4B FEX MmiIRFEK AL LT 7.26.53
9 /I EX INBER AL LI 8.07.71
10 FE Ml M RETEK AL LI 8.25.52
[2#H]
{3 E % OB EE E I % =
1 KE M INBER 7.03.35 5=
2 =T #% INBER 7.03.72 5t
3 /M EM MiIREFEK 7.09.53 5T
4 Hl FK HBRX=aK 7.11.59 =
5 FB EH HBEX=EK 7.57.19 5T
6 SH BN MIRHFEK A4 LI 6.58.95
7 K# FPY EAREGEK AL LT 7.19.43
8 BH EFE EARESK DQ R256-2
9 [0 ®E— REIESK DNF
3. VELZF 500m R
{3 E % OB EE % =
1 WA i FEBE=R 40.71
2 BH hH EAREGK 40.84
3 it BE EAEER 40.92
4 WE BREER MIRHFEK 41.14
5 ¥ AXF FEBE=R 41.15
6 ¥H 9L WARESE 42.93
7 HYF #F HBER=ZEKR 4423



4. LEBF 500m

R

Bz E % moOR EE % =
1T HE BWA RIS 38.19
2 BRE R INBER 38.54
3 EH RKER A ER 38.69
4 T FEH EARESK 39.59
5 LER X% RIS 39.99
6 WT BZ EARESK 40.06
7 it X MmiIREFEK 40.27
8 HIu #E RBRK=E& DQ R256-2

5 MDELF 1500m R

[148]

{3 E % moOR EE E I % =
1 HEH E=%H EARESK 2.11.37 5T
2 WEDIFUFETF MNEERK AL LIL 2.16.31
3 IR EAREEK AL LT 2.16.89
4 HR B RIS AA LI 2.17.12
5 UH EBETF INBER AL LI 2.17.31
6 HHF EE MRS AA LI 2.17.45
7 LkifF EEF A REK AL LT 2.17.60
8 B8 BEf EARESK A4 LI 2.34.24
9 FFE XK FAEAER= SR DNS

6. VEBEF 5000m R

{3 E % R EE E I % =
1 MR XK EARESK 6.43.89 5 CR
2 XR F¥E FAEAE R 5 6.59.33 5t
3 KEZE M INBER AL LI 6.43.73
4 O W= MRS AA LI 6.43.80
5 =B BN BRER CEPNAB 6.45.10
6 =ERZE EA INBER A4 LI 6.45.37
7 FH ESH HBEXK=ZEK AL LI 6.48.55
8 At =K HBEX=EK AL LIEL 7.06.35
9 KT fiF HBR=5K AL LI 7.07.03
10 SH @B MRS AA LI 7.11.95
"n =T # INBER A4 LI 7.19.03
12 Ihk B0 ML RFEK AL LI 7.47.59



7. VEBF 1000m FiE
[1#8]
B4 E % OB EE B A % =
1 41 #hE HBX=ZEK 1.20.89 58
2 HE WA RIS 1.24.57 5T
3 HEH FEH EAREGEK A LI 1.21.77
4 0NE E#— BERFEEKR AL LT 1.28.03
5 HE #hiE mEFEEKR AL LI 1.28.22
[2#H]
B4 E % OB EE B A % =
1T HBH EX ML REHFEK 1.19.83 5
2 KM X E AR ER 1.21.43 5T
3 BRE E INBER AL LI 1.20.82
4 Iphith BHE HBR=5K AL LI 1.21.21
[3#H]
{3 E % R EE E I % =
1 #HE| KE EARESK 1.19.88 5T
2 LR XH RIS 1.24.15 5t
3 Lt 57 E AR ER AL LT 1.23.04
4 it BX ML RFEK AA LI 1.25.99
5 mREZE X INBER CEPNAB 1.36.15
[4#H]
B4z E % moOR EE E I % =
1 FE BB M EHEK 1.18.70 5T
2 FH HRKER FAEAE R SR 1.18.95 5
3  Hith jEH INBER 1.20.71 5t
4 T B EAREGEK AL LIEL 1.23.82



8. VEBF 1500m Fi&E

[1#8]

B4z E % OB EE B A % =
1 KE M INBER 2.04.12 58
2 BT ¥ INBER 2.05.48 5=
3 Al =FK HBERK=ZEK 2.05.64 e
4 F#m KB EARESK 2.05.79 58
5 TR [ EHEREK AL LI 2.05.27
6 KB FEXK MmiIRFEK AL LT 2.05.72
7 SH BN ML RFEK AA LFEL 2.15.53
8 FIFE I M REEK A4 LI 2.31.93

[2#H]

{3 E % R EE E I % =
1 Fih Ee INBER 1.59.00 5T
2 HBHH EX ML RHFEK 2.00.93 5
3 fREE HW MiIREFEK 2.03.60 5T
4  KfE X1 FAEAE R 5 2.04.49 5t
5 =k & BRER CEPNAB 1.59.14
6 /i B MRS A4 LI 2.00.48
7 MR X INBER AL LT 2.17.15
8 EE #hiE mEFEEK A4 LI 2.22.35

9. bEBF 10000m R

B4 E % OB EE B A % =
1§00 =R MIRHFEK 15.55.89 5
2 SRE BEA INBER AL LT 16.43.45
3 R - EHIXER A4 LI 16.43.89
4 IMKR BK EARESK AL LTEL 16.44.12
5 XIR &RE FAEAEI R 5 AL LIL 16.44.29
6 FFH BEH HBEXK=EK A4 LIS 16.44.81
7 K¥E Al HBRX=a& AL LIL 16.47.11
8 K #EM EAREEK AL LTEL 17.15.36

EHl EF EARESEK DNF



10. DELXF 3000m REE

Bz E % OB EE E I % =
1 WREDIZUFEF MNEEK 44755 52
2 B EARESK 4.47.70 5
3 B8 BEft EAREEK 4.49.74 5T
4 FEHZE EE MIRHFEK 4.50.44 =
5 LifF BEEF FARE R 4.56.99 5
6 HMm R#H RIS AA LI 5.31.36

11. DELZF  1000m R

B4 E % OB EE B A % =
1 EHF ER EARESK 1.21.76 5 CR
2 UE % FEBE=R 1.21.99 5 CR
3 BE hH EARESK 1.28.85 52
4 N RE E A EER AL LT 1.21.97
5 WE EBEER MIRHFEK AL LFEL 1.22.46
6 IUH EBETF INBER AL LI 1.26.34
7 ¥ AETF FBTE =R AA LI 1.28.44
8 ¥H ZII WARES R A4 LI 1.29.93
9 H4% #WF HBERK=EK AL LIEL 1.29.99

MR XK FARAEIR= SR WDR

12. DEBEF 1000m RRE

Bz E % OB EE E £ % =
1 HH BEX MmiIRFEK 1.16.44 52
2 FH RKER FAEAE R 5 1.16.98 5
3 HE WA RIS 1.23.45 5T
4 FiE BB MIRHFEK AA LI 1.16.88
5 41 #E HBR=5K A4 LI 1.17.86
6 AR X A ER AA LIEL 1.18.03
7 #HiE KE EAREGEK AL LT 1.18.63
8 LR XH RIS AL LIEL 1.19.52



13. DEBEF 1500m RE

Bz E % moOR EE E I % =
1 KE M INBER 2.00.15 52
2 Hith E INBER 2.03.34 5t
3 AM X FAESYETF R 2.05.35 5T
4 HHF BEX MRS 2.10.02 =
5 ¥l KT EARESK CEPNAB 2.00.28
6 ALl =K HBRX=aK AL LIL 2.04.66
7 AT # INBER AL LT 2.16.27

Rk B MIRHFEK DQ R256-2



	国体予選

